

1. $n > 1$

$$\sqrt[n]{1+x} + \sqrt[n]{1-x} = a$$

$x_0 = 0$, $a = 2$, $x < -1$

$-x_0 = x_0$, $x_0 = 0$, $a = 2$, $x < -1$

$x > 1$ (n), $\sqrt[n]{1+x} + \sqrt[n]{1-x} < 2$,

$x \in [-1, 1]$, $u = \sqrt[n]{1+x}, v = \sqrt[n]{1-x}$, $\frac{u+v}{2} \leq \sqrt[n]{\frac{u^n+v^n}{2}}$

$x = 0$, $a = 2$.

2.

$$\frac{3x}{\sqrt{2-|1-2x|}} = 1. \tag{1}$$

$x > 0$.

(1),

$$9x^2 = 2 - |1 - 2x|,$$

$x > 0$.

$1 - 2x \geq 0$, $\dots x \leq \frac{1}{2}$,

$$9x^2 - 2x - 1 = 0$$

$$x_{1,2} = \frac{1 \pm \sqrt{10}}{9}, \quad x = \frac{1 + \sqrt{10}}{9} \in (0, \frac{1}{2}].$$

(1)

$$1 - 2x < 0, \dots x > \frac{1}{2},$$

$$9x^2 + 2x - 3 = 0$$

$$x_{3,4} = \frac{-1 \pm 2\sqrt{7}}{9}$$

$(\frac{1}{2}, +\infty)$.

$$x = \frac{1 + \sqrt{10}}{9}.$$

3.

$$\cos x \cos 2x \cos 4x \cos 8x \cos 16x = \frac{1}{32}.$$

$$x = kf, k \in \mathbb{Z}$$

$\sin x$

$$32 \sin x \cos x \cos 2x \cos 4x \cos 8x \cos 16x = \sin x$$

$$\sin 32x = \sin x,$$

$$\sin 32x - \sin x = 0,$$

$$2 \sin \frac{32x-x}{2} \cos \frac{32x+x}{2} = 0.$$

$$\sin \frac{31x}{2} = 0 \quad \cos \frac{33x}{2} = 0, \quad x = \frac{2kf}{31}, k \in \mathbb{Z}$$

$$x = \frac{(2m+1)f}{33}, m \in \mathbb{Z}.$$

$$x = nf, n \in \mathbb{Z}.$$

$$\frac{2kf}{31} \neq nf, n \in \mathbb{Z} \quad x = \frac{2kf}{31}, k \in \mathbb{Z}, k \neq 31t, t \in \mathbb{Z}.$$

$$\frac{(2m+1)f}{33} \neq nf, n \in \mathbb{Z} \quad x = \frac{(2m+1)f}{33}, m \in \mathbb{Z}, m \neq 33s + 16, s \in \mathbb{Z}.$$

4.

$$\operatorname{tg} x \operatorname{tg} 2x = \operatorname{tg} 3x \operatorname{tg} 4x.$$

$$x \neq \frac{f}{2} + nf, \quad x \neq \frac{f}{4} + nf,$$

$$x \neq \frac{f}{6} + nf \quad x \neq \frac{f}{8} + nf, \quad n \in \mathbb{Z}$$

$$\operatorname{tg} x \operatorname{tg} 2x + 1 = \operatorname{tg} 3x \operatorname{tg} 4x + 1,$$

$$\frac{\cos x}{\cos x \cos 2x} = \frac{\cos x}{\cos 3x \cos 4x}.$$

$$\cos x \neq 0$$

$$\begin{aligned}\cos x \cos 2x &= \cos 3x \cos 4x, \\ \cos x + \cos 3x &= \cos 7x + \cos x, \\ \cos 7x - \cos 3x &= 0, \\ \sin 2x \sin 5x &= 0,\end{aligned}$$

$$x = \frac{f}{2}k, k \in \mathbb{Z} \quad x = \frac{f}{5}t, t \in \mathbb{Z} . \quad -$$

$$x = mf, m \in \mathbb{Z} \quad -$$

$$x = \frac{f}{5}t, t \in \mathbb{Z} . \quad x = \frac{f}{5}t, t \in \mathbb{Z} \quad -$$

5.

$$\sin(x - \frac{f}{6}) + 2\cos^2 x = 1 . \quad -$$

$$\sin(x - \frac{f}{6}) + \cos 2x = 0,$$

$$\cos(\frac{2f}{3} - x) + \cos 2x = 0,$$

$$\cos(\frac{x}{2} + \frac{f}{3})\cos(\frac{3x}{2} - \frac{f}{3}) = 0.$$

$$, \quad \cos(\frac{x}{2} + \frac{f}{3}) = 0 \quad \cos(\frac{3x}{2} - \frac{f}{3}) = 0$$

$$x = \frac{f}{3} + 2kf, k \in \mathbb{Z} \quad x = \frac{5f}{9} + \frac{2nf}{3}, n \in \mathbb{Z} .$$

6.

$$\sin x + \sqrt{3} \cos x = 2 + 3\cos^2(2x + \frac{f}{6}) . \quad -$$

$$\frac{1}{2} \sin x + \frac{\sqrt{3}}{2} \cos x = 1 + \frac{3}{2} \cos^2(2x + \frac{f}{6}),$$

$$\cos \frac{f}{3} \sin x + \sin \frac{f}{3} \cos x = 1 + \frac{3}{2} \cos^2(2x + \frac{f}{6}),$$

$$\sin(x + \frac{f}{3}) = 1 + \frac{3}{2} \cos^2(2x + \frac{f}{6}).$$

$$\sin(x + \frac{f}{3}) \leq 1 \quad \cos^2(2x + \frac{f}{6}) \geq 0, \quad -$$

$$\sin(x + \frac{f}{3}) = 1,$$

$$\cos(2x + \frac{f}{6}) = 0.$$

$$x + \frac{f}{3} = \frac{f}{2} + 2kf, \quad k \in \mathbb{Z}, \quad -$$

$$2x + \frac{f}{6} = \frac{f}{2} + nf, \quad n \in \mathbb{Z},$$

$$x = \frac{f}{6} + 2kf, \quad k \in \mathbb{Z} \quad x = \frac{f}{6} + nf, \quad n \in \mathbb{Z},$$

$$x = \frac{f}{6} + 2kf, \quad k \in \mathbb{Z}.$$

7.

$$\sin 2x \sin 4x - \sin x \sin 3x = a$$

[0, f).

$$f - r \quad r \quad , \quad r_0 \in [0, f)$$

$$[0, f), \quad r_0 = 0$$

$$r_0 = \frac{f}{2}. \quad t = \cos 2x, \quad -$$

$$\cos 2x - \cos 6x - (\cos 2x - \cos 4x) = 2a,$$

$$\cos 4x - \cos 6x = 2a,$$

$$2t^2 - 1 - (4t^3 - 3t) = 2a,$$

$$4t^3 - 2t^2 - 3t + 2a + 1 = 0,$$

$$r_0 = 0, \quad a = 0 \quad (t-1)(4t^2 + 2t - 1) = 0. \quad -$$

$$(-1, 1), \quad a = 0$$

$$r_0 = \frac{f}{2} \quad a = 1 \quad (t+1)(4t^2 - 6t + 3) = 0.$$

$$, \quad a = 1$$

8.

$$x^3 - 3x = \sqrt{x+2}.$$

$$, \quad x \geq -2, \quad x > 2$$

$$x^3 - 3x = x(x^2 - 3) > x > \sqrt{x+2},$$

$$(x-2)(x+1) > 0, \quad x \in [-2, 2], \quad r \in [0, f] \quad -$$

$$x = 2 \cos r, \quad , \quad -$$

$$8 \cos^3 r - 6 \cos r = \sqrt{2 \cos r + 2}.$$

$$, \quad \cos 3r \quad \cos 2r, \quad -$$

$$\cos 3r = \cos \frac{r}{2}. \quad -$$

$$, \quad 3r \pm \frac{r}{2} = 2kf \quad n \in \mathbb{Z}. \quad r \in [0, f]$$

$$3r \pm \frac{r}{2} \in [-\frac{f}{2}, \frac{7f}{2}] \quad n=0 \quad n=1. \quad ,$$

$$x = 2, x = 2 \cos \frac{4f}{5} \quad x = 2 \cos \frac{4f}{7}.$$

9.

$$x^2 + xy + y^2 = a.$$

$$. \quad p^2 + pq + q^2 = 1.$$

p

$$p = \frac{-q \pm \sqrt{4-3q^2}}{2} = -\frac{q}{2} \pm \sqrt{1 - (\frac{q\sqrt{3}}{2})^2}.$$

$$|\frac{q\sqrt{3}}{2}| \leq 1, \quad \frac{q\sqrt{3}}{2} = \sin t, \quad t \in [0, 2f].$$

$$p = -\frac{\sin t}{\sqrt{3}} \pm \cos t, \quad q = \frac{2 \sin t}{\sqrt{3}}.$$

$$|\frac{q\sqrt{3}}{2}| > 1, \quad \frac{q\sqrt{3}}{2} = i \cdot \operatorname{tg} t, \quad t \in [-\frac{f}{2}, \frac{f}{2}].$$

$$p = -\frac{i\sqrt{3}}{2} \operatorname{tg} t \pm \frac{1}{\cos t}, \quad q = \frac{2i \operatorname{tg} t}{\sqrt{3}}.$$

$$. \quad x = p\sqrt{a},$$

$$y = q\sqrt{a}$$

$$p^2 + pq + q^2 = 1.$$

$$x = p\sqrt{a}, \quad y = q\sqrt{a}$$

.

10.

$$\begin{cases} 3(x + \frac{1}{x}) = 4(y + \frac{1}{y}) = 5(z + \frac{1}{z}), \\ xy + yz + zx = 1. \end{cases}$$

$$x = \operatorname{tg} \frac{r}{2}, y = \operatorname{tg} \frac{s}{2}, z = \operatorname{tg} \frac{x}{2}$$

$$\frac{\sin r}{3} = \frac{\sin s}{4} = \frac{\sin x}{5}. \quad (1)$$

$$\operatorname{ctg} \frac{x}{2} = \operatorname{tg} \frac{r+s}{2}.$$

$$r, s, x \quad (1)$$

$$x = \frac{1}{3}, y = \frac{1}{2} \quad z = 1.$$

11.

$$\begin{cases} \sqrt{x} + y = 3 \\ \sqrt{y} + z = 3 - \sqrt{2} \\ \sqrt{z} + x = \sqrt{2}. \end{cases}$$

$$x, y, z \in [0, +\infty).$$

$$[0, +\infty) \quad f(t) = \sqrt{t} \quad g(t) = t$$

$$(x_0, y_0, z_0) \quad (x_1, y_1, z_1).$$

$$x_0 < x_1. \quad \sqrt{x} \quad y$$

$$y_0 > y_1.$$

$$z_0 < z_1 \quad x_0 > x_1, \quad . \quad ,$$

$$\begin{cases} \sqrt{x} + y = \sqrt{1} + 2 \\ \sqrt{y} + z = \sqrt{2} + (\sqrt{2} - 1)^2 \\ \sqrt{z} + x = (\sqrt{2} - 1) + 1 \end{cases}$$

$$x = 1,$$

$$y = 2 \quad z = (\sqrt{2} - 1)^2.$$